LIRS 2023 FRFMFEL.

1+ CAXHA) 9 A:

T = (VA 1 )

FF5 SR — R FR R cE RAEHEFEN
1 0101 ¥ = =
2 0101 i B 7w =
3 0101 i G E =
4 0201 i Z 5 F BB 25 =
5 0403 HEF Elz P =
6 0501 FEIEE XF THEE =
7 0501 FEEE XF = MAE =
8 0602 # 5 % K =
9 0712 FEREAE T T 4% =




2. L+ (EI) 29 A:

e | FRARE —HEMLK y i E A HEEAN
1 0701 #HF B =
2 0701 HEF AR S =
3 0702 W F TR =
4 0702 W ¥ L& =
5 0702 W B F T == =
6 0702 W% 2 3, =
7 0702 W% AN =
8 0702 W F i =
9 0702 W% SR =
10 0702 W F R =
11 0703 .3 H =
12 0703 % PRER R =
13 0703 = JEARSYS =
14 0703 =2 T =
15 0703 =2 B =
16 0703 = T =
17 0703 . BBRE =
18 0703 = B3 =
19 0703 .3 i =
20 0710 W F RZ I =
21 0710 EWF KEZ =
22 0710 W% EigH =
23 0710 W F TR E =
24 0713 AT TH# =
25 0812 TENMFEEA ok B e =
26 0812 HENRFEREA £ NI =
27 0830 TEMFEIRE TE¥ =
28 0830 TEMFETIR T =
29 0830 FEMFEIR &3 X =




3. ;l+ (AXHR) 37 A:

5 2R — 2R FR "4 REHEEENR
1 0101 ¥ X 42 & =
2 0101 H ¥ & B =
3 0101 ¥ A =
4 0101 G Wk 18 B =
5 1202 THERE GRS 2
6 0201 BRZGFFE i =
7 1255 E B EH &2 1 =
8 1256 TAEE R kT E =
9 0302 K iEF R R =
10 0302 Bb%# T =
11 0305 OwBEXNER X & B =
12 0305 owBEXNER JRT 5 =
13 0351 EE KA 1= =
14 0351 AR X 5 L =
15 0351 EE AR =
16 0351 EE T =
17 0402 N = VIREAT A =
18 0452 ®EH £33 =
19 0452 REH w Z =
20 0452 rEH R I =
21 0501 # E1EE X F ZEZ &=
22 0501 ¥ E1EE X F T 7 5 £
23 0453 POEETR#HE X\ B i =
24 0501 B EEE X F 7k A &
25 1301 ZAFE® EY S =
26 0551 BFE =3 =
27 0551 BFE TEX =
28 0552 FESEE I~ &7 1% =
29 0552 HESEHE FuE =
30 0602 H [E ¢ 1 F =
31 0602 HE £ 4] =
32 0602 H [E ¢ E =
33 0651 X5 e FH =
34 0651 45 e 7K v £
35 0712 HEHEAE B 2B =
36 1351 A HRR =
37 1351 ZR THEE =




4. M+ (EI) 36 A:

Fs | R4S — R R LR w4 REHEEENR
1 0701 ¥ 7k o =
2 0701 el iR =
3 0701 ¥ EEHA =
4 0701 ¥ F A =
5 0702 W ¥ F g =
6 0702 W ¥ BE S =
7 0803 HF IR A =
8 0854 BT ER ETE =
9 0854 BT ER = B R =
10 0854 BT 15 R ik =
11 0702 WEZ i 2 =
12 0854 BT 15 R I~ it 4 =
13 0854 BT 15 R REF =
14 0703 1t RKAOZE =
15 0703 th2# =T =
16 0703 th2# R 1= 1 =
17 0703 th2# MEE =
18 0856 ME 5T 2 v =
19 0703 1t L4 =
20 0703 th2# M E =
21 0710 EYF Ie BB =
29 0710 EYF J 7 =
23 0710 X7k 5 i I =
24 0812 HENRFEEA Bk =
25 0812 HENRFEEA T =
26 0854 R 7K T I =
27 0854 BT ER =RE =
28 0812 THEIMAFEE K M =
29 0854 BT ER £ =
30 0812 HENRFEEA KBk E =
31 0830 AEMFEIRE i =
32 0830 HEAFE5THE M E =
33 0713 ERF FTEE =
34 0830 EMF5IRE F #H =
35 0811 ERMFEIE B P Z
36 0858 &6 IR 2 A E v =




